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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions: 1x10=10

weto VAl 2TEs ey fi

(a) What is a sQuare matrix ?

INT News IF @2

(b) Write an identity matrix of order 3x3.
3x3 @l ol ¢ ENerF Gl

(c) Define an implicit function.
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(d)

(e)

State the first order condition for
minimisation of a two-variable function.

ToI-56T5 ToTF (o (o Wi NeffeiT ey
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What is a differential equation ?

(IRF SR AN T QAET 2

(f/ Define rank of a matrix.
Teeme Sfe TREt 74|
(g) Write a homogeneous function.
<O} T e fovi |
(h) Fill in the blank:
AT o2 7 4 ¢
The inverse of an inverse matrix is the
Ree e «BiF [eTo GNeTewiot 79
|
(i) If y=f(x,x,), then write dy function. .
M y = flx,%,), dy T B
() What is a difference equation ?
con TR e
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2. Answer the following questions :

2x5=10
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(a) Find A-B, where A =[ - _J and

(b)

(c)
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Write a second-order linear differential
equation.

<G5t TForE AN SRS SEeay AeI ol |

Find the determinant of the following
matrix :
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(d) Test whether A is singular matrix :

A CIET=0! I 3T (7 72T 2190 391 8
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() What is the difference between a
homogeneous function and a
homothetic function ?

I FeT S et Tt Sl [be

3. Answer any four of the following questions :
5x4=20
(@) Prove that the following matrix is non-
singular :
O (ETHLO! 5 A=A I el 4l 3

A=

O O N
= N =
AN W

(b) Prove that every homogeneous function
is a homothetic function.
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(d)

Solve the following homogeneous
difference equation :

oo Wl TPTY (S ANSIECo] TNl 5l 8
CY;H-I—dY; =O

Solve the following differential equation :

o SRS ANPIEICe! TN 1 2

dy
=2 42y=7, yl0)=5
ey y(0)

Find the inverse of the following matrix :

G (T LeI9 2Ot ClieT o) e 3 2
SE10T 12
A=|l4 5 6
A%l 56

Solve the following national income
model by using matrix inversion
method :

ARSI NG 11

Y= C+285D
C= 500+ 0.6 (Y-T)
T= 10+0.1Y
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() Discuss the properties of transpose of
a matrix.

(e FASReT T2 Steval 41 |

(g) Obtain the time path of price P, and
also test whether the time path is
dynamically stable for the following
market model:

o S fRGIS P, T A #Ae e i T
ST Rl Rearwe 1 e

Q;=5-3P
Q,=-6+2P

dp _
_d"t—_3(od_Qs)

(h) Find the value of A®-2A+7, if

1 -2 3
A=|37211
2t el

A2 _2A+7 TN P <9 TS

15243
A=13 2.1
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